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ﬁqﬁwﬁ; ;GT TETT 7 2. Which of the Tollowing s dhjective
" /e determinants of Astention 2
ALY (1) Inerest
(2) o
(2) Habijt
(3) formman
- (3) Curiosjty
(4) SETT T ) Duratj
(4) Duration of stimilus
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Gk g 3. What js the approximate weigh! 0
T feBe C the Brain up1o 16 year ape ?
(1) 7 1) 759 g1 10 900 gm
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(3) 1000 717 & ) 1000 gm 10 1200 m
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(4) 800 7 & 10 ) 890 gm0 1000 g R
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6. m ff% i?? P30 e 2 6. Which of the Following is pur ue
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(1) fﬁﬂ'ﬂ A oitad @ ¥ (1) Deyelopment INYOlyes chunges
@) e Rew e g g @) Barly - Deyelopment s e
S eyl By & critical thap Jater deyelopmen
~ ¥ - e AT Ay () Development — pauems  ae
, unpredictable
(4) SEW TN P g () There are indjyiusl difforcine
in development
7. %Ilﬁré’r SEs qéﬂi!“r T R e 7. How many cards are wed ¥
IR ferg. sy % Rorschach Inkhlot Jest 7
(1) 10 (ay 10
2
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3) 15 3) 15
4
Level-3/9203



10.

11.

www.HaryanaJobs.in

‘ \
A o W g @
R Gy g

T N R
RUCI TR

10.

n,

[C)
vhich of the following Rot
:* ud's Psychosexual Stage 9
lrc )

(N phallic stage

(2) Autonomy stage
3) Anal stage

(@) Oral stage

Which of the following is 1Q_ Rapg, ¢
'Moderate mental retarded chilgre, 9
(1) 52to 67

(2) 36to 51

(3) 20t0 35

(4) below 20

Knowledge s

constructed by
transforming,

organizing  and
re-organizing  previous knowledge."
This best explains the idea of which
of the tollowing 2

(1) Piaget
(2) Vygotsky
() Freuq

(4) Bandurg

Which of the following is Direct
Method of Adjustment ?

(1) Repression
) Regression
(3) Withdrawl and Submissiveness
@) Rationalization
p.1.0
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() v & fvaw

(3) THR® g @ fEw

(4) o9 F a9 |

Ficieg ¥ 9§ f9-@ = @ e

qd SR @} R ™ ke @
TR TFE 8 ?

(1) d=rwas

(2) T -

(3) FAHD

(4) G -

Frfefed & & S-ar o=l Sfy
T FET R 7

(1) s

2) e arer-

(3) g

(4) W& B W WS T W)
N

Level-3/9203

12.

13.

14,

15.

b

Which of the following is ot

- ey

)
]

(2) Scquential transfer
(3) Honzontal transfer

(4) Zero transfer

Which of the ‘-.‘hilm\ing B the
subordinate law of | " .
Thorndike ?

(1) Law of readiness

Sming given by

(2) Law of exercise
(3) Law of mental set
(#4) Law of effect

Which of the following is zer s fyme
of Personality given by Sprenser iy
values point of view ?

(1) Theoretical

(2) Economic

(3) Asthetic

(4) Athletic

Which of the following is not the
symptoms of Good Memory ?

(1) Rapidity

(2) Average retention

(3) Accuracy

(4) Recall of right material at right
time
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Yenfres o ¥ R g Rear an ?
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18, Which
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error
() aodiyIng
attnude

(he Individunl

e lollowing s not (he

olement ol crentivity ns given by
Quittord ?

(1) Flueney (2) Incubation

(3) Plexibility (D Originality

Psychologist presented
seientific description of 'Individual
dilferences' in his Book "Mereditary
Genius' 7

(1) Allport

(2) Biggi and Hunt

(3) Jean Pinget

(@) Sir I'ransis Galton

19, Which of the following concept is not

related  with  Bandurn's Social
Learning Theory ?
(1) Modeling
(2) Adaptation
(3) Tmitation
(1) Observational learning
p.T.O.
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(2) S o1 R fqEr
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20.

21.

22.

23.

Who stated that "Psychology is the
Positive Science of conduct of living
creatures" ?

(1) Sir William McDougall

(2) Sir IFrancis Galton

(3) Max Wertheimer

(4) William James

What is the ranking ratio .givcn by
Sheldon for predominant endomorph

- person according to physique ?

(1) 7-1-1
2) 1-7-1
(3) 417
(4) 4-4-4

Murray's "Thematic Apperception
Test" is related to which theory of
personality ?

(1) Trait theory
(2) Trait and Type theory
(3) Type theory

(4) Psychoanalytical theory

Which of the following orientation
falls under the post convention Jevel
of Moral Development Theory
propounded by Kohlberg ? |

(1) Punishment and Obedience .
(2) Social contract
(3) Good boy/Nice girl

(4) Law and Social order
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25.

28,

" charact®!

1€y
¢ the Tollowigy -
which ©! 7 B gy |
jstic of IMroven, iy

ik

pcﬂ‘gnalil}’ as given by e
- - & IL

1ype :
(1) S¢ _
2) opi.imisuc

(3) Absorbed 10 RS o iy,

I Centered

pursuit

(4) Support Theory with fyey,

A statement of knowledge o skili
that student should mmsier g
instruction. is known &s -

(1) A content analysis

(2) An individualized education
programme (TEP)

(3) An instructional objective

(4) General Aims N

Which of the following i m
true characteristic of Adolescene -

(1) Adolescence is mansitans!
between childbod
adulthood.

: s
) 1n adolescence there ¥ * "
Individual status. :
i
&) Adolescence is ™e thres
adulthood.

b

) Adolescence is a im¢ & ]

T
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(3) FTEH 9 R

(4) SEEhEr s Rywar
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o oy Ry 7
(1) T gl it
(2) TyETER
3) 3% fre
(4) TSR

29. FelieT § @ F9-8 Resikmen @
v TR ?
(1) S Rear.
(2) BRI T qumd
(3) ==EE Fi fym=r
(4) 3R G F &
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27.

28.

29,

30.

_

Which iy 1he Nih stpe of I‘L‘-ﬁﬂna!}g,‘
lIL‘\-'l']HI‘IIIICIII nccording 1o I‘rikmn 9 ‘
(1) imlmtry v/s inl'c:ioril}

(2) i(lcntiiy v/s role confusion

(3) Mtimacy v/s isolation

(4) pencerativity v/g stagnation

Which of the [ollowing s Indirey
mcthod of measurement of mo;, 53
(1) Sentence completion technigue
(2) Questionnaire

(3) Checklist

(4) Intervicw

Which of the following is noy the
characteristic of Adolescence 2

(1) Emotional Stability

(2) Contrasting Mental Moods
(3) Anxiety of Vocation

(4) Feeling of Hero worship

An  English teacher taught  their
students that plural of Cat 18 Cats
plural of House is Houses. plural of
Pen is Pens, in this manner student by
mistake made plural of Mouse as
Mouses. This is the example of which
type of transfer of learning ?

(1) Positive transfer

(2) Negative transfer

(3) Zero transfer

(4) Vertical transfer s

g e
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(3) orRfacT-farm . @t :
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(4) - (2) WEH &9 & T A
40, éa‘ﬂl’c‘:m—qﬂ‘an'awfzﬁrmg@r ©(3) S AR 9T A S

? .
(4) o9 B S&T e

(1) enfeaRe () sngforp

(3) omfad,  (4) emaE 45. T3 1 3t @ oemr ey g -

1. TR do g A T (1) &9 + 3% = ERT%
(2) fiw + 3% = 3em

(1) STSTHET %I Yergar aga qe &
3) AFEIT + & = afERg

(2) Surdl Ao ¥ @ ol @ &
Eﬁﬁﬁk’l , (4)qm+§q=q]ﬁ]7ﬂ‘q

(3) T~ CRER | mgzn aq
ol &

(4) B orgna for ¥ B oF G @
8T T 2 W
42. 0 fameq & sreriag w7
(1) fYeses
(2) FUges
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Direcy; : H
Clioy, . Ansyye,. . [ STSh / ENGLIS ] most appropPr tate opuiy),
4s. Ch 'efo/lowmg questions by .\'L’M&.{&Lﬂ‘#" | e
O0se . . bee in the |y o~
c : T'o have Onhney
follow; : OPlion and arrange the a9. 10 Lo know perfeetly “Cinegy,

Order - ehlence in (he correct (1 ;

: (2) something-you are Obseggeq .
ReSigncd (3) not (o take anything Scriuuslwmb

e To sack him i T (4) to deviale from the Poing

v e ol in the blank wi
. We ix s0. Fill in the blank wilh .

(1) 1v H IOL;ld have been foreed present perfect continugyg “-'ns: l"rec;

& IV, - > I, T (2) L, 1L, 1, 1V WHD iutvsers was coming scc‘ ”

SLLIT @)1, g, IV, IL this morning ? ¢
4 <3 3
. I‘z]i- In the blank with the correct (1) yfw shopld say
option : (2) did you say,
3 u did said
............ , they slept soundly, 3) Y? lid sai
I : (4) did you say tha_

(1) Hot though was the night air

(2) Hot though the night air was 51. Fill in the blank with the correct |

(3) Hot was the night air that present perfect continuous tense :

‘ She is j : S

(4) Hot although the night air was,” oneiolthe Ioy peogicy

| (1) who I look up to
48. Change the narration : (2) whose I look ups

He said, "I've been spending a lot (3) Tlook up to

more time with my children." (4) Both (1) and (3)

(1) He told me that he l:lad be.en 52. Choose the grammatically correct
spending a lot more time with sentence : ' !
his children. -~ (1) No -sooner we reaf:hcd the |

(2) He told me that he is spending a station and the train arrived the
lot more time with my children. (2) No sooner did we reach §

i in arl'iVCd-
1d me that he had spent a Station than the trd

(3) He to g gon Sk @3 .4 we reach
lot more time with his children. ) No sooner did ¥

: t he spends a Jot more station then the train arrcﬂCh the
(4) Hesaid 00 children. (4) No sooner did %° dr
time with his station the train am¥e™
1.0
P
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Change the sentence into passive

(KT
Wi the Blank with (he correct 7, .
Option gomeone has picked my pocker
' - ket is picked.
OF the two NOVEIS, 1118 18 vovvrirnee (1) My poc . [
(1) 4 (2) Somchody picked my pocket. {
interes | ‘
3 rosting (3) My pocket pick by somebody.
(» ) maore huk‘f’t\\l”"ﬂ. (4) My p“Ckct hﬂ" bccn p:Cde/
(3) interested
() much interesting 58. Choose the part of sentence thar i
grammatically incorrect :

That's twice I've been forgetting 1

54. Fill in the blanks :
bring my diary to work this week.

The growing number of visitors
the footpaths. (1) That's twice

(1) are damaging (2) I've been forgetting
(2) is damaging (3) to bring my diary —
(4) to work lh/i; week

(3) were damage
Fill in the blank with the correcr

(4) was damaged 59.
55. The word 'juncture' means : present perfect continuous tense :
(1) in a joyous manner Sy o
(2) 10 put in danger ((;)) it;ese;::z;
(3) to sound harshlyy (3) been sleeping
(4) point  rendered critical by (4) has been sleeping /

circumstances <
60. Choose the part of sentence that is

56. Fill in the blank with the correct
present perfect continuous tense : grammatically incorrect :

.......... thinks that Julie should be
given the job,

The world's supply of oil is soon i

running out. L
(1) The world's
) Practically everyone. (2) supply of oil

((i; :01:’-( :))f people (3) is soon running out .

and (2) (4) both (1) and (2)#

_._...--""_

(1) ncither of ys

Level-3/9203
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aqrr =/ 5 - :
B a'lm:r/GENEHN[‘— ud 317"‘"“I'XHOEL:~?E:’ o e
’ T g i 1y AWARENESS
R Qe s ST o ey AND
| APTITUDE, REASONING A — .")/f 7 sropriate opy
R : Freafr pgsy @ awre 4 @ R 9 i aﬁfr-ﬂng (he M st === i
,-)".{""‘ﬁ"” s Answer the following, (/"f""."_”{.’f.".'."'_--,-}'-]-} it = l [ Shyam writes dovn the fi]w’&:.
: ! ' Sudbllds 2 oy e 61' h []’ ” + : 7J
61. bl w1 Q100 G D an ‘_Jf’m' from 110 !,0. g f,m oy My i
Er?r"' B, A au e ax 3 does he WIS <2
LI
(1) 19 (1
|
(2) 11 (%)
20)
(3) 20 + Ay =
(4) 21 (!
62. R A A 7o q¢ wT BRI : 62. l'ind ‘1}-1(; u')rrmg terms of the
following scrics @
ICV, 5FU, 91T, 1518, 170R 1CV, 51U, 91T, 1518, 170
(1) 51U (1) 5KFU
(2) 9I'l’ (2) 9I'l
(3) 151.8° (3) 151.8
(1) 170R (4) 170R L
- Wl oy il
63 ufg ad ugarg, far @ oy Suw 4 63. Afier 5 years, fathe’s age ?;earﬁ
i ot Lﬁ Fﬂjﬁl lﬁjn'q’;{"z{ﬂ qqﬂ%’lﬁ']’ three times of his $07° aig c;:s of S
factr Gilﬂ-t?{iq?i1ga1 '{'H ago, father's age W& o of ¥°
)l foyerr el @l Sfg v son's age. ‘The prescft
father is :
§
(1) 40 ad (1) 40 years
(2) 30 ad (2) 30 ycars
(3) 50 a4 (3) 50 years
(4) 45 ad (4) 45 years ; [’;T’o'
3 ,
Lovel-3/920 -
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64. ESqa. , l()’
10
o ﬁ, agtﬁET SR ) e G 64. Kamal walks 10 m towards Nop,
%n‘ fﬁa‘{ & SRy 3 dR 6 Hlex e I'rom there, he walks 6 m l()ward.,:
%u‘ % Eat P v 3 Hrer =eran south, Then he walks 3 m “’Ward;;
i UBATR H gadf 7 IZast. In which direction is he w:
ﬁ)‘ﬂ' ra'Qﬂ’ ﬁ % ? he With
relerence Lo his starting oint ¢
(0 gp ?
e (1) West
(2) &gy
(2) South-West
3) s (3) North-East
(4) =fdyor (4) South
65/ T gy ¥, 27% faef okt #F 65. In an examination, 27% students faileq
eqa;ﬁof 3R 38% =T & ya—fﬂ-uf in English and 38% failed in Science,
TR :?rqo 5 f&:reﬁ B If 19% failed in both the subjects, thep
’ 9% 8Y, : ;
A5t RYar 7 e a7 e & Ihz . perc_en[age of passed in both the
supjects 1s ;
(1) 46% (2) 54% - (1) 46% (2) 54%
(3) 62% 4) 81% . - (3) 62% (4) 81%
66. U% F& 99T F, 'DISTANCE' & 66. In a code language, 'DISTANCE' s
'IDTATOEC'  and

wriften  as
'DOCUMENT' is  written as

'ODDMUFTN!, then in same code
language, 'THURSDAY' will be

written as :

(1) HTRUDSYA
(2) HTVSREYA
(3) UHVSTEYA
(4) VIRUDSZB

A is elder to B while C and D are
elder to E. E lies between A and C
and C is elder to B, then which of the
following statements is necessarily
true ?

(1) AiseldertoC.

IDTATOEC' fom@mr omr & ok
‘DOCUMENT' # 'ODDMUFTN'
ferer e &, @ g6 @9 e W @,
'THURSDAY"' & forar s :

(1) HTRUDSYA
(2) HTVSREYA #
(3) UHVSTEYA
(4) VIRUDSZB
67. ABY g2 s C &R D, E @

TWEEAIMNMCDag a2 ax
CBHIE @ Fe & § a-ar

DA MEYIH Y G Y 7

67.

() AC3 geT 2
) C,Dp3 g7 3 (2) Cis elder to D.
B3)D,C F g 3 (3) Diselderto C.

(4) E,B 3 qTT B4 (4) Eis elder to B.

evel-3/9203



88,

68,

70.

Filk
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117]

%‘“‘1“;{'@“ IR
2030, RSO P

19,16, 17, 13,14, 11, 2,2
(1) 10, 19« (2) 10,11

Q) 13, 14

(D) 1% B /e 2) 2 et/
(3) 2% Bt e (4 3 R/
T 5w R q s T
B O & - G |

'HEARTLESS' 5y =a= g% 9=t
5 oo e o gear & 7

(1 @y2

' (@ 4

(3) 3

A 9 A IR B @ @ A

9 F A 30 &R 36 e @ 2
AT Al F G Gl SN g, o A
A B F9 €8 FAT Tied F @18
e ¥ 0% g X 9™ ?

(1) 15 o & @

2) 12 o & T

(3) 14 o & @&

(4) 16 fio &

g 15 olX 24 3 fowfoa &9
F&ﬁﬁﬁaﬁmw%:

(2) 1800

(4) 6400

(1) 120¢
(3) 3600
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69.

70.

Tk

72,

Jwms O
jext tet!
§8. N°

[C)

{ the following N,
Lo A0C

9,16, 17, 13, 14, 11,2 9
(2) 10,11

# 10,9

rows upstream 13 kp and

dm\‘nstrcml‘l 28 km taking 3 hours
cach time. What is the speed of

A man

water ?
(1) 1% kmvhr  (2) 2 knvhr

3) 2% km/hr (4) 3 kmvhr

How many independent meaningful -
words can 'HEARTLESS' be divided
into without changing the order of the
Jetters and using each letter only once ?

(H1 (2) 2
(3) 3 ) 4
Two taps A and B would fill a tank
completely in 30 and 36 minutes
respectively.  Both  taps: being
opened, find when the tap A must be

turned off so that the tank must be
just filled in 18 minutes ?

(1) after 15 minutes
(2) after 12 minutes
(3) after 14 minutes

(4) after 16 minutes
which is

The least square numbeb
equal to

divisible by 8, 15 and 241
(1) 120 (2) 1800
3) 3600 (4) 6400
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w

74. M?TsR,KGﬂTD
T

() T 2) D
(3) M (4) R °

75. 10% 9% =7 a7 gY STsaia
THIRE HA T 800 TG F T R
926.10 99 fba af § g oef ?

(1) 3 (2) 1Y% e
(3) 4% gy (4) 2 5
76. T X T MR Y B Ru oam 76.
gaﬂ”ﬁ? Y, 90 6 3 9y @ gl
2 X, fmft Y & g mer
gy
(1) e (2) amy
() gy (4) TGTe
7 Hﬁ6ﬁ?ﬁwﬁmmgﬁq\,m
?g'%a?m%, o AR g &
(1) 25% e (2) 25% afy

|
(3) 333-%67% 4) 333{%5,],3,{'

Level- 39903

73.

74.

75.

() ()

The square root of (#:_;T__ [T?
I | =2,
4 ,J
is cqual to ! l
11 g5 5.1
(M 275 (2) e
11 1 3"1_
@i @3

Among M, T, R, K and D, cach

having a different height, M is shorg,
only from T and D is taller only from
K. Who will be the third tallest person

among them ?
(O T
3) M

In how many years will a supy of
Rs. 800 become Rs, 926.10 at 10% per

annum interest compound half yearly ?
(1) 3 years (2) 1'% years

(3) 4% years (4) 2 years

Mr. X said about Mrs. Y, "Mrs. Y is
the wife of the grandson of my
mother." How is Mr. X is related to
Mrs. Y 2

(1) Father
(3) Husband

If the selling price of 6 pens is cqual
o the cost price of § pens, then
profit/loss in percentage is :

(1) 25% profit (2) 25% loss

2) D
4) R

(2) Grandfather
(4) Father-in-law

]
3) 33-3—%]0ss 4) 33%% profit
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[19] A man is performing Yoga [C]
78. down and legs up 1. ith
78. T &g Ry 47 X W IN G hesd the west. P- Hi fage y
: ds In which 4 Ci
AT STy gw @l B SN & towar: ich dll‘ec-s
W R @ o b 9EE T O ol is/lefE hAnd e 7 o
Roa Rem 3 % 2 (1) North —(2) Souty
(1) I « (2) TR (3) West (4) East
(J) Erﬁa:[ (4) gﬁ In the first ye€ar, the pPopulas;
79 - . ., 79. ; Pulatigp
- TOH 9§ F g dig @ smaed 7 5% village increased by 5% a4 of g
I A WS Y oW o & 3 next year it decreased by S%. ot
5% # T & o b AR W N P end of the second year, the poy ¢
T F e 79,800 &, @ A was 79,800, what was iy’
T 3 o F o e O 7 beginning of the first year 7 e
(1) 79,800°  (2) 80,200 (1) 79,800 (2) 80,200
(3) 80,000 (4) 79.600 3) 30=0f’0 (4) 79,600
50, % N B3 3 dmmed | 80 O o e s
T o S g ratio 2 : 3 and their heights arcip e
- Gv?ﬂé'qTJ:Bq;HgWﬁﬁ r o 5 - 3. The ratio of the in the
Bl IS AR S WA N s Ir volumes
& e S :
8 L . St (1) 27:20  (2) 20:2]
2 (4) 9:4 (3) 4:9 (4) 9:4
81. fRy we & s & F 59 TS 81. Vinesh Phogat is recently honoured
NESSARS q g B @ e ? with which National Award ?
(i) ANICICECCIS (1) Dronacharya Award
(2) 3@[ 3[_5”‘5 . (2) Arjuna Award
(3) TG ME BF & Ha©
2 i Al (3) Rajiv Gandhi Khel Ratna Averd
(4) T S | (4) Dhyanchand Award
Be. Eit:ll { g?w _W = HeW wRl 82. Where is the palace of Begum 52"
R . @ located in Haryana ?
1) Pl s e (1) Faridabad  (2) Sonip!
@) . @) T (3) Gurugram (4) Rohtzk
83. ﬁﬁ qﬁ,ﬁﬁ E’n‘ Wf)ﬁ ﬁﬁlﬁqq} F 83. Ri\-“ulm_, which 1s oné of the tributary .
(1) SIqiT- (2) e of Ghaggar : y
(3) & 4) TN (1) Chautang (2 15831;‘;:

N (3) Doh ¢4) :
ga. 1857 & f=E 3 A Vsaw o ) s of Rohiz¥
Ryeeisr @id = ? 84. Who was the Collf;clt;5 .

(1) g R () = & during the uprising O |, g
= (1) Thomas Semton @ dson
(3) TEA NIE (4) &= ; ¥ @)
l (3) Adam Loch 0,10

. Level-3/9203
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[ C)

85. Bﬁ“q-ru“
» S OTRAT 2019 @)
T qr iy

120

o ow ¥
(D 123 (2) 134
(3 143 (4) 1541

86. Py A A el ge R )
m TRHR & & o Al gReg

(1) 9 Wz
(2 A e
) T=oER W/
4) 3 g,
87. %ﬂamwmﬁ?wﬁgm?
(1) "esrg (2) v
(3) e (4) Aga
88. A % W@ TRT 63 ey for
ST % IR (Srem) A ¥ 7
(1) faerg I «
(2) T GwR
(3) Yo TTEE I
(4) o dlo Tgo Tqo O[T
89. ToFX it wRam B Py Ry &
Rea g 7
(1) Vzas ) e
(3) F (4) Py

%0. AT O o & ey e ¥ 9
(1) 7T Frar

) T wa
(3) ¥=T fygy

| 4
: % (4) Suraj Bhan

~ Level-3/9203 _

05.

86.

87.

88.

89.

90.

The nssembly of Huryana, which |,
been constituted afler ()ye clection
October, 2019 :

(1) 1% (2) 13"

(3) I‘Ilh ('l) Islh

The award s given by the Haryy
Government (o the gold medal wipy
in the Commonwealth games -

(1) Three crore

(2) Two crore

(3) Seventy Five lakh

(4) Onc & half crore

Which city has its ancient name
Kanaud ?

(1) Mahendragarh (2) Ambala
(3) Kaithal (4) Sonipat

Who is the Chairman of the new
constituted  6th State  Finan
Commission of Haryana ?

(1) Vikas Gupta

(2) Rajesh Khullar

(3) P. Raghvendra Rao
(4) T.V.S.N. Prasad

In which district of Haryana 'Tikk
lake' is located ?

(1) Rohtak (2) Panchkula
(3) Karnal (4) Kaithal
Who is the vice-chairman of Haryal
Urdu Academy ?

(1) Gopichand Narang

(2) Kumud Bansal

(3) Chander Trikha




